

$$\langle n \rangle = \{1, 1, 2, 2, 2, 2, 3, 3, 3, 3, 3, 3, 4, 4, 4, 4, 4, 4, 4, 4, 5, 5, 5, 5, 5, 5, 5, 5, 5, 5, 6, \dots\}$$

$$\sum_{n=1}^{\infty} \frac{2^{\langle n \rangle} - 2^{-\langle n \rangle}}{2^n} = \sum_{n=1}^{\infty} \left(\frac{2^{\langle n \rangle}}{2^n} - \frac{2^{-\langle n \rangle}}{2^n} \right) = \sum_{n=1}^{\infty} \frac{1}{2^{n-\langle n \rangle}} - \sum_{n=1}^{\infty} \frac{1}{2^{n+\langle n \rangle}}$$

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{2^{n-\langle n \rangle}} &= \frac{1}{2^{1-1}} + \frac{1}{2^{2-1}} + \frac{1}{2^{3-2}} + \frac{1}{2^{4-2}} + \frac{1}{2^{5-2}} + \frac{1}{2^{6-2}} + \frac{1}{2^{7-3}} + \frac{1}{2^{8-3}} + \frac{1}{2^{9-3}} + \frac{1}{2^{10-3}} + \frac{1}{2^{11-3}} + \dots \\ &= \frac{1}{1} + \frac{1}{2} + \frac{1}{2} + \frac{1}{2^2} + \frac{1}{2^3} + \frac{1}{2^4} + \frac{1}{2^4} + \frac{1}{2^5} + \frac{1}{2^6} + \frac{1}{2^7} + \frac{1}{2^8} + \frac{1}{2^9} + \frac{1}{2^9} + \frac{1}{2^{10}} + \frac{1}{2^{11}} + \frac{1}{2^{12}} + \dots \\ &= \frac{1}{1} + \frac{1}{2} \\ &\quad + \frac{1}{2} + \frac{1}{2^2} + \frac{1}{2^3} + \frac{1}{2^4} \\ &\quad + \frac{1}{2^4} + \frac{1}{2^5} + \frac{1}{2^6} + \frac{1}{2^7} + \frac{1}{2^8} + \frac{1}{2^9} \\ &\quad + \frac{1}{2^9} + \frac{1}{2^{10}} + \frac{1}{2^{11}} + \frac{1}{2^{12}} + \frac{1}{2^{13}} + \frac{1}{2^{14}} + \frac{1}{2^{15}} + \frac{1}{2^{16}} \\ &\quad + \frac{1}{2^{16}} + \frac{1}{2^{17}} + \dots \end{aligned}$$

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{2^{n+\langle n \rangle}} &= \frac{1}{2^{1+1}} + \frac{1}{2^{2+1}} + \frac{1}{2^{3+2}} + \frac{1}{2^{4+2}} + \frac{1}{2^{5+2}} + \frac{1}{2^{6+2}} + \frac{1}{2^{7+3}} + \frac{1}{2^{8+3}} + \frac{1}{2^{9+3}} + \frac{1}{2^{10+3}} + \frac{1}{2^{11+3}} + \dots \\ &= \frac{1}{2^2} + \frac{1}{2^3} + \frac{1}{2^5} + \frac{1}{2^6} + \frac{1}{2^7} + \frac{1}{2^8} + \frac{1}{2^{10}} + \frac{1}{2^{11}} + \frac{1}{2^{12}} + \frac{1}{2^{13}} + \frac{1}{2^{14}} + \frac{1}{2^{15}} + \frac{1}{2^{17}} + \dots \\ &= \frac{1}{2^2} + \frac{1}{2^3} \\ &\quad + \frac{1}{2^5} + \frac{1}{2^6} + \frac{1}{2^7} + \frac{1}{2^8} \\ &\quad + \frac{1}{2^{10}} + \frac{1}{2^{11}} + \frac{1}{2^{12}} + \frac{1}{2^{13}} + \frac{1}{2^{14}} + \frac{1}{2^{15}} \\ &\quad + \frac{1}{2^{17}} + \dots \end{aligned}$$

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{2^{n-\langle n \rangle}} - \sum_{n=1}^{\infty} \frac{1}{2^{n+\langle n \rangle}} &= \frac{1}{1} + \frac{1}{2} + \frac{1}{2} + \frac{1}{2^4} + \frac{1}{2^4} + \frac{1}{2^9} + \frac{1}{2^9} + \frac{1}{2^{16}} + \frac{1}{2^{16}} + \frac{1}{2^{25}} + \dots \\ &= 1 + 2 \left(\frac{1}{2} + \frac{1}{2^4} + \frac{1}{2^9} + \frac{1}{2^{16}} + \frac{1}{2^{25}} + \dots \right) \\ &= 1 + 2 \sum_{n=1}^{\infty} 2^{-n^2} \end{aligned}$$

$$\sum_{n=1}^{\infty} 2^{-n^2}$$

θ fonksiyonudur ve $q = 2$ için yaklaşık değeri

$$\sum_{n=1}^{\infty} 2^{-n^2} = 0.564468413605938579\dots$$

$$\sum_{n=1}^{\infty} \frac{2^{\langle n \rangle} - 2^{-\langle n \rangle}}{2^n} = 1 + 2(0.564468413605938579) = 2.12893682721187\dots$$

Eğer soru şöyle olsaydı tam değer çıkıyor. Acaba basım hatası mı var?

$$\sum_{n=1}^{\infty} \frac{2^{\langle n \rangle} + 2^{-\langle n \rangle}}{2^n} = \sum_{n=1}^{\infty} \left(\frac{2^{\langle n \rangle}}{2^n} + \frac{2^{-\langle n \rangle}}{2^n} \right) = \sum_{n=1}^{\infty} \frac{1}{2^{n-\langle n \rangle}} + \sum_{n=1}^{\infty} \frac{1}{2^{n+\langle n \rangle}}$$

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{2^{n-\langle n \rangle}} + \sum_{n=1}^{\infty} \frac{1}{2^{n+\langle n \rangle}} &= \frac{1}{1} + 2 \left(\frac{1}{2} + \frac{1}{2^2} + \frac{1}{2^3} + \frac{1}{2^4} + \frac{1}{2^5} + \frac{1}{2^6} + \frac{1}{2^7} + \frac{1}{2^8} + \frac{1}{2^9} + \frac{1}{2^{10}} + \frac{1}{2^{11}} + \dots \right) \\ &= 1 + 2 \sum_{n=1}^{\infty} \left(\frac{1}{2} \right)^n = 1 + 2 \left(\sum_{n=0}^{\infty} \left(\frac{1}{2} \right)^n - 1 \right) \\ &= 1 + 2 \left(\frac{1}{1 - \frac{1}{2}} - 1 \right) \\ &= 3 \end{aligned}$$